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Exam:
Q.1: $pz s doid Sl P1 Mark(s): 3/3
Evaluaten — 1. cn— 1 el b sag
fn=—-4 n=—4 g cuale 13

L "l‘ C "',

© MAT.2.02.02.010




Q.2: Jolgsdl JI yusill Jul=i P1 Mark(s): 3/3

Factor. L wadl) Jalge Jl;
9x — 12 9x — 12

o MAT.2.02.02.018

9(x —3)
b.
3(3x—12)
C.
x(3x —4)
d.
Q.3: 3a>lg)l $gbzdl O3 z bl gozdl DVslee J> P1 Mark(s): 3/3
Solve the equation. cdalaad) Ja
x+6=4 x+6=4
e —




Q.4: yusil YUS dsle) gy joill duols plaziwl P1 Mark(s): 3/3

Use the Distributive Property to < omtl) LUS Baley auj gl duald asdiol)
rewrite the expression. 3(x+1)
3(x+1)

‘ Learning O C d |~

o MAT.2.02.02.012

3x+1
a.
i 3x+3 o
b.i E
x+3
C.
3x
d.
Q.5: Slblas)l yolgs plaziwl yuledl baws P1 Mark(s): 3/3
Name the property shown by the - Blaall B daiiagal) ducaldl) ol <3
statement. 3b+0=3b
3b+0=3b
‘ Learning O C d l,

o MAT.2.02.02.011

deasih

Commutative Property

g.l.c.L“ Alaall
Additive Identity

i)

Associative Property

rall el
Multiplicative Identity




Q.6: Losll Llgill Olwls sluly Sliliall Carinaly Jaxi P1 Mark(s): 3/3

Which of the following triangles is a Sadle dulia ga 4V Clilial (ha _T
right triangle?

o MAT.3.08.01.006

N |

| N




Q.7: guieliie oisglig oileSiall iy glill 3325 P1 Mark(s): 3/3

Select the angle that is L Blasall i:ul)!.t daaial) 1:5511 Al

complementary to the given angle.

23°

r—

o MAT.3.07.04.002

135°

23°
d.
Q.8: 2ybl of gazl plasiwly dyliall J> P1 Mark(s): 3/3
Solve. Lda angl
x+5 <—-14 X+5 < —14
Pr——

o MAT.2.02.05.007

x<9

x>19




Q.9: lgizauiy Llgil carivai P1 Mark(s): 3/3

Name the angle in two ways, u_.,'.iifd\h.. FEP] po

‘ Learning O C d I»

o MAT.3.07.04.001

2HFG, 2 F

LHFG,+ H
b.
£HGF, . F
C.
¢FHG, . F
d.
Q.10: dauudlly opall OVslse J> P1 Mark(s): 3/3
Solve the equation. JAdaleall Ja
4x = -20 4x = -20
l Learning O C d }

o MAT.2.02.04.004

x =80




Q.11: 3)ilaJl buzo sl P2 Mark(s): 5/5

Find the circumference of the circle. LByl s dag)
22 22 ..
Use7for11 n_'.7‘..\;“|

-

‘ Learning O C d

o MAT.3.02.11.002

Q.12: syl s JSal duoysll gbliall Gusi P2 Mark(s): 5/5

Describe the shape resulting from apl) ahial e gl JC3Y Cha

the cross section

l Learning O C d }

o MAT.3.06.05.004

- Gulila P T A A,

triangle

trapezoid

Jubieca

rectangle




Q13: Caliall (b BBl Ulgill Slulis slayl P2 Markisy 575

Find the value of x. x Lad 2

l Learning O C d IF

o MAT.3.08.01.006

x =90

x =60

Q14 guighall &5 Sliliall Jydasy J> P2 ark(sy 575
Solve 2x + 8 > 24. And graph the 2x+8 > 24 Ja
solution set on a number line. Ll e Ao Jadl Ji.,
l Learning O d dl

o MAT.2.02.05.009




Q15: dauill] il plasiwl Sliliall J> P2

Solve5x < —40.

Mark(s): 5/5

5x €£-40 Ja

I o MAT.2.02.05.008

Q16: guishll Ol dslzall J> P2

Mark(s): 5/5

Solve the equation. . dlslaal) s angl
—2y—-7=3 —2y—-7=3
’ L [o] Ci d },




Q.17: duuuill Ololsall OIS OVsleall J> P2 Mark(s): 5/5

Solve the equation. L Alslaa) Ja
7 11 7 11

—_m=— [ [ p—
9™~ % 9™=%

l Learning O C d }

o MAT.2.02.04.006

Q.18: &yl yulsill i P2 Mark(s): 5/5
Use the Distributive Property to - meil) ALE Baley ausl) drald andid
rewrite the expression. —2(2y +4z)
—2(2y + 4z)
‘ Learning O C d l»

o MAT.2.02.02.012

—4y + 8z

4y — 8z

4y — 6z




Q.19: dyludl Slyliiall b 39301 gawsi P2

Write the next three terms in the

arithmetic sequence.
1,5,9,..

l Learning O C di|

Mark(s): 5/5

Al Al B A0 AN 3paal) i)
1,5,9,..

o MAT.2.01.03.014

RO S S S

13,17,21

11,15,17

Q.20: &yl pulsill doys Sl P2

Evaluate 8g — 2f.
Ifg=-4f=3

Mark(s): 5/5

- 8g — 2f sl Aad 2
g=—4F=3 3 ey
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o MAT.2.02.02.010
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